O SMsE12AE KEREHZR XK. EA)
KEREZEHOBIUVER HAEKOKEREHKR(EAKARIER - MBKRREIER)

5 B | s T AKIEFEM | BEBKEFEH | MW KE KIGF|HHBEKISG [ FABEZ212—42Y # B X Hr NEHT
128128118148 (12812811 8148|128 12811 A148 |12 812811 148 |128128 |11 B148|128 128 |11 814812812811 A 148 |12 8128 (11 A 148
1 —HHE 100 AT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 KibE RUSH | R | B | St | FRE | R | PR | R | RE | TR | FRE | TR | FRE | TR | FRE | SR | SR
11 FHBEERRUEHREZER mg/L| 10 AT | 069 0.68 0.81 0.80 | 0.023K# | 0.025R i | 0.025R % | 0.023Kji | 0.025K % [ 0.025Ki# | 0.70 0.67 0.03 | 0.023K# | 0.025K3# | 0.02
12 79RRUZDIEEY me/L{ 0.8 LA | 0.09 011 |008%ki#| 009 |[008%#%| 008 [0.085K;# |0.085KiH | 0.08K% | 0.08 0.09 011 |0.08%ki# | 008 |0.085k; | 0.085Ki
14 AR TR L) ) L L e S e e
18 Fh3YOOTFLY me/L[001 UF| - 0 052%%5 - - - - - - - - - - - -
23 yOOmRILL me/L[0.06 LITF| - ‘ié’?g - %S% 0006 | 0009 | 0005 | 0007 | 0006 | 0008 - ‘;g}% 0006 | 0008 | 0007 | 0010
24 ST0E/OOARY me/L| 0.1 AR - ‘;’% - ‘;é’;%; 0002 | 0002 | 0002 | 0002 | 0002 | 0.002 - ‘;ﬁ% 0002 | 0002 | 0002 | 0002
27 #RyNOALY me/L| 0.1 AR - ‘ié’?g - %S% 0012 | 0016 | 0011 0013 | 0012 | 0015 - ‘;g}% 0012 | 0015 | 0013 | 0017
29 JOESH/OOALY me/L{0.03 IF| - (iif?% - gé’}%; 0004 | 0005 | 0004 | 0004 | 0004 | 0005 - gg}% 0004 | 0005 | 0004 | 0005
38 &4y me/L|{200 LIF| 35 33 27 26 12 12 12 12 12 12 36 30 12 12 12 12
2 vrtxsy MU L L e T e
43 2-AFLAYRRE—IL m/L 0-%?‘%21 - - -
o AR (EHERRRTOOD | 3 T | 03k | 03K | 035k | 03k | 07 08 07 08 0.7 08 |03k |08k | 07 038 07 0.7
47 pHIE - ggﬁ% 8.0 8.0 79 7.8 7.8 7.6 7.7 75 7.7 7.6 7.7 7.8 7.7 7.6 7.7 7.6
48 IR - ,;if’;z BELGL | BEEL | BELUL | BEUL | EEUL | BREGL | RE4L [ REEL | 284U | BBEL | BE4L | BEUL | EEUL | BERGL | RE84L | BBAL
49 2 5 - ,ﬁiﬁﬁ EEGL | EEGL |24 [ EBLGL | 2%4L | BELGL | EEUL | EEUL | EE4L | EELL | EB4L | EELGL | 2841 | EELGL | EEUL | EEGL
5 & & B | 5T | IRE | IRE | 1RE | RE | 1RE | RS | KB | RS | RKE | KB | KB | RKE | KB | KB | KB | XS
51 & & B | 2T | 01K | 015K | 01K | 01K | 015K | 015K | 0.1R5 | 01K | 015K | 01K | 0.1k | 01K | 015K | 01K | 0.1k | 0.1k




